Spring Test 2

1 |40+10+10= 2| 9+5+5=

3| 13- =9 q | 5X6=

5 | 46 +30 = 6 — 24 =41

© | 562 - 100 = 10| 577 + =627

1" %Jr%: 12 = 426 + 456

13| 3x9= 14

UJ|N

of 9 =

15| 15+1= 16 =1X1
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Spring Test 2 (continued)

17 — 5376 = 1000 18 | 25 X3 =
19| 3, 3= 20| 7 X 6=
9 9
5 1 1 _ =
21| 150 " 700 T 100 = 22| 8X3X5
23 = 4265 + 3544 24| 8+ 100 =
25 %_%: 26| 15X8x2=
27 | 376 X 4 = 28 =120X7
\
Total marks /28
J
+ 125 fwo|n|i2fw|2a]2
- 3691725
x 4|8 |13|16]18]20 22262728
+ 15 | 24
Fractions 7 N 14 19 21 25
How well did you do? Do ”
ecimals
Colour the numbers of the — A R Iy
questions you got correct. Missing numbers

34
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